
yisinverselyproportionaltoxand

y=10whenx=
5.

Findywhenx=100

y is
inv

ers
ely

pro
por

tion
al t

o x
2 and

y=1
wh

en
x =

2.

Fin
d an

equ
atio

n c
onn

ect
ing

x a
nd

y.

y
is

inversely
proportional

to
x
and

y=
10

w
hen

x
=

5.
F
ind

an
equation

connecting
x
and

y.

y is inversely proportional to x 2
and

y=1 when x =
2.

Find y when x =
0.1

yisdirectlyproportionaltothesquare

rootofxandy=6whenx=
9.

Findywhenx=
16.

y is
dir

ect
ly

pro
por

tion
al t

o x
and

y=1
0 w

hen
x =

20.

Fin
d an

equ
atio

n c
onn

ect
ing

x a
nd

y.

y
is

directly
proportional

to
x
2
and

y=
50

w
hen

x
=

5.
F
ind

an
equation

connecting
x
and

y.

y is
dir

ect
ly

pro
por

tion
al t

o x
2 and

y=5
0 w

hen
x =

5.

Fin
d y w

hen
x=6

.

y is inversely proportional to x 2
and

y=1 when x =
2.

Find y when x =
3

y is
inv

ers
ely

pro
por

tion
al t

o x

y
is

di
re
ct
ly

pr
op

or
tio

na
l
to

x3
an

d
y=

16
w
he

n
x
=

2.
F
in
d
an

eq
ua

tio
n
co

nn
ec
tin

g
x
an

d
y.
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y is
dir

ect
ly

pro
por

tion
al t

o x
and

y=1
0 w

hen
x =

5.

Fin
d y w

hen
x =

3.

y
is

di
re
ct
ly

pr
op

or
tio

na
l
to

th
e
sq
ua

re
ro
ot

of
x
an

d
y=

6
w
he

n
x
=

9.

F
in
d
y
w
he

n
x
=

25
.

y is
inv

ers
ely

pro
por

tion
al t

o th
e sq

uar
e

roo
t of

x a
nd

y=1
2 w

hen
x =

9.

Fin
d x w

hen
y =

18.

y is
inv

ers
ely

pro
por

tion
al t

o x
and

y=1
0 w

hen
x =

5.

Fin
d y w

hen
x =

25

y is inversely proportional to the square of x

y
is

in
ve
rs
el
y
pr
op

or
tio

na
l

to
th
e
sq
ua

re
ro
ot

of
x

y is
dir

ect
ly

pro
por

tion
al t

o th
e c

ube
of x

y
is

directly
proportional

to
the

square
root

of
x

y
is

di
re
ct
ly

pr
op

or
tio

na
l
to

x
an

d
y=

10
w
he

n
x
=

5.
F
in
d
an

eq
ua

ti
on

co
nn

ec
tin

g
x
an

d
y.
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yisinverselyproportionaltoxand

y=10whenx=
5.

Findywhenx=2.5

y is
dir

ect
ly

pro
por

tion
al t

o th
e sq

uar
e of

x

y
is

directly
proportional

to
x

y is directly proportional to x and

y=10 when x =
5.

Find y when x = 12. y
is

di
re
ct
ly

pr
op

or
tio

na
l
to

x
an

d
y=

10
w
he

n
x
=

5.

F
in
d
x
w
he

n
y
=

3.

y is
dir

ect
ly

pro
por

tion
al t

o th
e c

ube

of x
and

y=3
2 w

hen
x =

2.

Fin
d x w

hen
y=5

00.

y is
inv

ers
ely

pro
por

tion
al t

o th
e s

qua
re

roo
t of

x a
nd

y=1
2 w

hen
x =

9.

Fin
d y w

hen
x =

16.

y
is

di
re
ct
ly

pr
op

or
tio

na
l
to

th
e
sq
ua

re
ro
ot

of
x
an

d
y=

6
w
he

n
x
=

9.

F
in
d
x
w
he

n
y=

30
.

y
is

inversely
proportional

to
x
2
and

y=
1

w
hen

x
=

2.
F
ind

x
w
hen

y
=

49

yisdirectlyproportionaltox
2and

y=50whenx=
5.

Findywhenx=10.
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